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B WO fB— 39 | 35 74 |40 | 700
2 |Fh IR E5 40 | 40 80 | 90 710
3 |BA 1k 38 | 40 78 | 50 | 730
4 |£B ®BE2 44 | 37 81 | 7O | 740
5 |BE R»E 40 | 43 83 | 80 | 740
6 |WE BiE 39 | 39 78 | 40 | 740
7R 1B 41 | 39 80 | 60 | 740
8 |6H 5% 40 | 45 85 |[100 | 750
O |EM X 41 | 46 87 120 | 750
10 | X B— 41 | 43 84 | 90 | 750
11 | BN 708 40 | 36 6 | 10 | 750
12 |fEE A 41 | 39 80 | 50 | 750
13 | Bl 41 | 45 86 |100 | 76.0
14 &8 B3 45 | 36 81 | 50 | 760
15 |WAX = 44 | 42 86 |100 | 760
16 |t8 & 39 | 40 79 | 20 | (70O
17 | 42 | 40 82 |50 | 770
18 |[IH 18X 44 | 45 89 120 | 770
10 | 2 42 | 45 87 |100 | 770
20 |5 888 43 | 38 81 | 30 | 780
21 | K¢ #E2 42 | 43 85 | 60 | 790
22 WX 5F 44 | 47 91 |[120 | 7190
23 |B8H #H= 49 | 39 88 | 80 | 800
24 & B 47 | 38 85 | 50 | 800
25 |ER 22X 43 | 43 86 | 60 | 800

1/5R=




BEWHNYRU=D3T

JIUNRE B (ADSX]

FEfEFAB : 20%F7R268 B)
ERI—X: @ 260 IBRADRRETTE © Rw MR
BRIE T BEHaN B5GlEf : 1:£FR88 SIAY
HDCPLERR: S|ttr:12 LM 12 ¥Z7 112 5 M 49 A
z 1A
Y7 oA
B 50 A
gz SNES 58 e GROSS| HDCP | NET =5
26 |®mEB —X& 42 | 43 85 | 50 | 800
27 |&&X Esh 42 | 44 86 | 60 | 800
28 |/\BE BX 41 | 41 82 | 20 | 800
29 |h8s =l 45 | 46 91 |[100 810
30 |EH BT 490 | 44 93 120 810
31 |/kA B 852 | 41 93 |[11.0 | 820
32|58 5% 43 | 43 86 | 40 | 820
33 |6F #HOo 48 | 42 90 | 80 820
34 |fEE EH 46 | 39 85 | 20 830
35 |RE IEA 49 | 46 95 110 840
36 |BR RES 45 | 51 96 120 840
37 |@R = 51 | 45 96 |[11.0 850
38 |BE BR 51 | 44 95 |[100 | 850
39 | bR 49 | 47 96 100 | 86.0
40 B 82 | 44 96 100 | 86.0
41 |Riz %R 44 | 47 91 | 40 870
42 LN FBE 48 | 50 98 110 870
43 | FE - 80 | 48 98 110 870
44 | HR BX 44 | 49 93 | 50 | 880
45 (2R 1518 80 | 49 99 110 880
46 |6F #X 48 | 49 97 | 80 | 890
47 |IRAN H— 51 | 46 97 | 80 890
48 )\8B  #F 51 | 47 98 | 80 900
49 (PR FORK 46 | 59 105 (100 | 950
80 |iiE Z 51 | 80 101 | 20 | 990
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B | BN R 40 | 45 85 140|710
2 g 8= 43 | 44 87 |150 | 720
3 [EB 0B 46 | 40 86 140 | 720
4 FmR BEE 46 | 45 91 |[180 | 730
5 |&f@ BE 42 | 46 88 140 | 740
6 |KE 18 45 | 47 92 180 | 740
7 |WAR E=TAR 42 | 46 88 130 | 750
8 BN BL 42 | 48 90 |150 | 750
O |FE =B 45 | 45 90 |150 | 750
10 %9 45 | 46 91 |[160 | 750
11|18 @ 43 | 45 88 |[130 | 750
12 |16 =5=7F 49 | 42 91 |[150 | 760
13|l BZ 46 | 50 96 180 | 780
14 |fAx B85 44 | 47 91 |[130 | 780
15 X B— 45 | 48 93 |140 | 7190
16 |5 =] 45 | 51 96 |16.0 | 800
17 |8 & 49 | 45 94 140 | 800
18 |WAX = 51 | 42 93 |[13.0 | 800
10| = 47 | 47 94 130 810
20 | KE ER 54 | 45 99 180 810
21 |KE Bt 43 | B2 95 130 820
22 |ElIg S 85 | 49 104 (180 | 86.0
23 |WF =3k 52 | 51 103 [160 | 870
24 B8 R— 48 | 56 104 (170|870
25 |WH 288 50 | 51 101 ({140 | 870

3/5R=




BEWHNYRU=D3T

JIUNRE. . B (BOSX])

REFSB ! 20578268 (B)
FEA3—-X: B B8 IEFRETIE @ Rw MIE
BiRFaE . BEHnT BEIER . 14588 SHIAE
HODCPLEFR : B4 18418 Yy =77 :18 B M 27 A
Eegit = 3 A
DiyZN O A
5t 30 A
JIEfez SNEB B EliDES] GROSS| HDCP | NET B3
26 |EFH KA 51 51 102 |140 | 88.0
27 |58 =17 56 | 49 105 |16.0 | 89.0
28 (@)l &z 56 | b0 106 |150 | 91.0
29 |/\’B =& 55 | 53 108 |15.0 | 93.0
30 B0 =% 47 | 64 111 {170 | 940
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B 58 = 46 | 42 88 230 650
2 | SB 45 | 42 87 |190 | 680
3 2B RE 44 | 48 92 230 690
4 KB & 48 | 44 92 230 690
5 |9 = 45 | 46 91 220 690
6 (LB =B 49 | 43 92 190 | 730
7R & 80 | 47 97 220 | 750
8 O = 48 | 48 96 210 | 750
O |tEH BB 48 | 48 96 |200 | 760
10| = 48 | B2 100 (230 | 770
11 |8 & 51 | 47 98 200 | 780
12|88 BE 54 | 49 103 (250 | 780
13 |'TFR 0% 850 | 80 100 (220 | 780
14 |k& 18 48 | B2 100 (210 | 790
15| £8 ®B7 51 | 51 102 (210|810
16 8P BX 47 | 54 101 190 | 820
17 |RHF 80 | 55 105 (210 | 840
18 |[BAX BE 55 | 56 111 (230 | 880
10|88 &M 57 | 55 112 (240 | 880
20 |8 1ESE 83 | 60 113 250 | 880
21 |fgf —= 85 | 62 117 (280 | 890
22 |l 5k 852 | 63 115 (240 | 910
23 | EB 1% 859 | 89 118 [240 | 940
24 LB F 57 | 65 122 |19.0 |103.0
»-rre | HOP {BEE 80 | 57 107 |39.0 | 680
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